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Run 4379 triggerwise, sums: All
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Endries: 170115

Mhzan: 2FEE1.1792 - 31,5868

Sbd Dwrw: 13028.0354 + 22,3353
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Run 4379 triggerwise, sums: Beam ON, Laser ON
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Hod Dew: 125324366 + 3B.TE57

Eniries: 54794

Mzan: Z18IT.63TE <= 547450

‘Bed D 128147707 4 3B.T10€
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Run 4379 triggerwise, sums: Beam OFF
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Endries: 1409

Mhzan: §114.6622 +- 2303850

Std Dew: BE4T 0D 4+ 1628058
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Run 4379 triggerwise, sums: Beam ON, Laser OFF
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— Helicity==0
— Helicity==1

Eniries: 3193

Maan: 24806342 4 171.2182

Sed Dew: 9ETE0T 45 1210703




